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L. Answer the following: (any eight)

ﬁm@mmwﬁﬁmﬁmm |

(a)

B

(c)

(d)

()

®)

State two advantages of CH+.

C++ -7 75 R4 @

What is a class ?

Class 3t ?

What is an object ?

Object F ?

State two data types of C++.
C++ -3 THATR data type SE I |
Define a data structure.
Data structure-«q FEA wis |
Whht is mer:rxber function ?
Member function 3! ?

What is a database ?

Database. @l ?
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() What is SQL ?
sQL 2

() What is a binary file ?
Binary file 1 ?

() Defiﬁg constructlor.
. Constructor-&d &I (L4 |

Answer the following questions : (any ten) 2x10=20

fre emofm Tea we & (@ @ P
(a) What is function overloading ?
Function overloading 2

(b) Define abstract class and concrete class.

Abstract class dR concrete class 93 & 4l€ |

(c) Define a destructor.
Destructor 43 A Al |
(d) State the commutative and associative law of Boolean algebra.

Boolean algebra-% commutative G associative law CTEY T |
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(¢)  What is packet switcll\ing ?
Packet switching ) ¢
() Define Bandwidth.
Bandwidth -93 ’R‘@T‘Cﬁmn
(g) State two uses of XML. /
XML -7 75 IR2s w3t |-
M) Define a Queue.
- Queue-dd RGN |
(i) Define a Stack.
Stack -9 @I (A0
) State,twé advantages of LAN. |
LAN - /5 R T e
(k) What is dafa transfer rate ?
Data transfer rate 31 ?
() State the usé of Karnaugh Map. |
’ vKarr}augh Map-43 IRYA W‘l A
(m) What is a base class ?
Base class S ?
| 32T CSCA ( BENG). 4]

mma—— -




3.

http://www.elearninginfo.in
&

(n) Define Pointer,
Pointer -43 %g&t wis |

Answer any nine from the following : 3x9=27

WG (T (@ 796 2o Teg i 3

(1) Write briefly about the advantages of object oriented programming

language
Object oriented programming language-4 ﬁﬁ*ﬂﬁﬁi ﬂ\m"i (AT |
(b) State the process of creating and writing text info a file.

G file-9 text create R write A agfel T I

(c) Differentiate ‘pass by value’ from ‘pass by reference’.

"Pass by value’ & ‘pass by reference’-&a 2F @A

Write the codes in C++ to declare and initialize a pointer.

(d)
«a3fo Pointer -4 declare ¥ initialize 414 T C++ -9 GFH

program (FTC |

(e) Write SQL to create a table named student with 4 fields namely :

SID, SNAME, ADDRESS and MARKS.
e fleld AR SQL-4 student ACTa GFb table create m

SID, SNAME, ADDRESS @3 MARKS.
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Write the differences of Text file and Binary file.

6
Text file 9 Binary file- 93 offofa (ETel |

(g9 What are the advantages of using SQL ?
SQL I3 T FRFR F F 2

() Explain the Puéh and POP operations on a stack. -
Stack-49 Push 43R POP operatibns -9 ﬁm e @Al

(i) Explain the process of seIectioﬁ sort with an example. ‘
Selection sort W R TareTg {E @I I-

() Eiplain the process of obtaininé Sum of Product (SOP) using Truth
Table. ' |
Truth Table I924 F7@ Sum of Product (SOP) e 371 | Aol Rac
IR @A |

(k) Explain the aggregate' functions of SQL.
SQL~R aggregate function 7FI2d f=Ca @ @t

()  Explain three different types of network topologies.
feafs fen fea network topologies -4g fraw IR @A

(m) Differentiate LAN from WAN.
LAN & WAN-d =l T |

32T CSCA (BENG) [6]




~(m)  Write the advant

g Answer any three from the following :
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ages of Java Script,
Java Script-qg ﬁﬁfﬂ’i‘{i (0 |

5x3=15

RCe @ @ o A OeR @Al

(a)

()

(0

(d)

(e)

f

Write a C+ program'to add two matrices of order 4 x4

P 4 x4 G s @@ I T Crt -9 G program T

Write a C++ program to implement binary search in an array.

93 array-CS binary search SN I &G Ch+ -q 36 program
(=Tt

Explain the concept of multiple inheritence.
Multiple inheritence-<a f&ta x|

Compare XML with HTML.

YML-& HTML - @& 0% Gel 1 |

Write briefly about DDL and DML with example.

DDL 3% DML-<3 Raw Targae-5g FRUFLA (1ot |

Write a C++ program to delete an element from an array.

@D array (A0 GI0 element delete FI T C+ -9 @36 program
GTTA |
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